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SGA=((db_block_buffers * block size) (shared_pool_size
large_pool_size log_buffers) IMB ORACLE 8.1.X [ [
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[0 SGA=0.45*(OSRAM) 0 OO 0O OO OORACLES.1L.X O O,
oS 00 00 0 102G MEM, db_block_size [1 8192 bytes, [1 [1 [
OORACLED O OO, 0000000000 OoOOOO.d
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(250*1024*1024 bytes) [ database buffer cache 620M (79360*8192
bytes) initorasid.oral] J O O O O O O O O : shared_pool_size =
262144000 # 250 M db_block_buffers = 79360 # 620 M log_buffer =
524288 # 512k (128K*CPUL I ) large_pool size = 31457280 # 30
M java_pool_size = 20971520 # 20 M sort_area_size = 524288 #
512k (65k--2M) sort_area_retained_size = 524288 # MTS [
sort_area_retained_size =sort_area_size SUN SolarisL] /etc/system
O0000000000000000 ORACLED DO OO
oo 0ttt set
shmsys:shminfo_shmmax=4294967295 set
shmsys:shminfo_shmmin=1 set shmsys:shminfo_shmmni=100 set
shmsys:shminfo_shmseg=15 set semsys:seminfo_semmns=200 set
semsys:seminfo_semmni=70 set ulimit=3000000 set



semsys:seminfo_semmni=315 set semsys:seminfo_semms|=300 set
semsys:seminfo_semmns=630 set semsys:seminfo_semopm=315 set
semsys:seminfo_semvmx=32767 set
shmsys:shminfo_shmmax=4294967295 set
shmsys:shminfo_shmmni=315 set shmsys:shminfo_shmseg=10 set
shmsys:shminfo_shmmin=100 00 00O O O O shmmax - O [
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